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Problem 3 (30 points)

Determine (with proof) if the following maps are linear transformations. If so, find the kernel

and range of the following linear transformations. If the linear transformation is bijective,
find its inverse linear transformation.
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Problem 4 (25 points)

Consider the vector space P,. This vector space has the following two bases.

By ={1,2 - z,1+ 3%}
By = {1+2x2,—1—m2,1+:c—x2}
Part (a)

- Find the change of basis matrix from By to By and from B, to B;.
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(25 points)
a linear transformation such that
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S of polynomials p(z) in Py such that p(1) = 0 and p/(1) = 0. Show that §
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